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Read the following short pussage carefully and then choose the best answer (1=5)

Khulid is moving into hiy new bedmom 1o day. He has four pieces MILrE 0
hﬂil‘E Jr;_:-:'.'.' g degk, and & cha id has to plan out how he will m
MUl go in J]r\th has to be when apart to fit thr wgh the doorway. Tt will b
together if it iy the only thi

e S

pleces of fumiture can go into the room

any order, However, the dre
Lo fif throwgh the doorway Th

kY muxt be turned sideways. The chair is the smallest piece of furniture, It
i lso the essiest 1o move,
I How many picces of fumiture docs Khalld h
A, three B five C. iw ur
2. What ig the only pieee of fumiture that cannot go |n the room [asi?
A hn_‘l___ B. dresser C. desk D. chair
3.\ = K} i o
. What does Khalid 1ave to do i 18 hed fif through th doarway?
A, take it apars Bu

sidewnys put it in firm . push i Rgainst the far wall

4. The furnirure iy SREIET 10 m o)

A goes in first C
Eoes in fir B. pods in last L eannot be laken apart D 15 amall

What is the smaljest Piece of tumilure?

A desk

B. dreyser

D. chair

Choose the pest Answer (6 ~ 20)

6. Sam und — ke a great fpug

A him (B 1] C. their D. me

T I phoned three times,

Vi : . e '—1-_)
—-""é'-‘hf _1'!_ himsel| C. she D, he v -~

nove into the room. He
ing. The bed
r to put the bed back
can push the bed ugainst the for wall. The other

end desk arc both too wide
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